(l'.’/ CTORY

option|ParteAWheelsKTiresYTuninglPartsy1o0/sXyAppare]

[EactorygTeam]RartsiFor:

Ll L
Lo o S/

Catalo and
N Parts Listing

www.TeamAssociated.com




RC18B/MT|T

21055
21093
RCI8T RTR ...... #20100
TITANIUM TURNBUCKLES 21240
21055 Titanium Turnbuckle Set §29.99
BLUE ALUMINUM Lzl
1787 Battery Strap Thumbscrews $6.99
21031 Doghones w/Retainer Springs (pr) 8.99 MORE HOPUPS
21093 Finned Motor Mount 14.99 21116 Carbide Diff Balls
21214 Threaded Shock Body, front w/collar (pr) 129 (99137 21227 Body Mount Spacers, for alum. shock tower
21215 Threaded Shock Body, rear w/collar (pr) 12.99 21230 MIP CVD Assemblies (pr)
21216 Threaded Shock Kit, front (pr) 19.99 21231 MIP Rebuild Kit
21217 Threaded Shock Kit, rear (pr) 19.99 21232 MIP CVD Axle Pins
21220 Front/Rear Suspension Arms (pr) 29.99 21238 Battery Strap, graphite
21221 Front Shock Tower (T/MT) 24.99
21222 Rear Shock Tower (T/MT) 29.99 25392 WHEELS & TIRES (pr)
21223 Steering Blocks (pr) 29.99 21058 White Dish Wheels, std width
gggg El:s[;ecrulglr(l)i[(i(gr()ieg (pr) gg?)?) 21059 Mini.Pin Tire, td width
21240  Bilet Upgrade Kit (T/M) 199.99 21060 Psr:adl\vﬂl?;r?]t White Dish Wheels/Mini-Pin Tires,
21241 Ballstuds (10) 12.99 21061 Chrome Dish Wheels, std width
21243 Outdrive Sleeves Lo 21220 21062 Pre-Mount Chrome Dish Wheels/Mini-Pin Tires,
21265 Front Shock Tower (B) 17.99 std width
21266 Rear Shock Tower (B) 29.99 21063 Chrome Beadlock Wheels, std width
21270 Billet Upgrade Kit (B) 199.99 21064 Monster Truck Tires, std width
25392 M3 Locknuts . 199 21065 Pre-Mount Chrome Beadlock Wheels/Monster
29137 XPS ESC Heatsink 3.99 Truck Tire,std. widih
21068 Pre-Mount White Dish Wheels/Foam Tires, std
width
21250 White Spoked Wheels, narrow width
21221 21251 White Dish Wheels, narrow width
21116 21252 White Spoked Wheels, std width
21253 Pre-Mount White Spoked Wheels/Mini-Pin Tires,
narrow width
21254 Mini-Pin Tires, narrow width
21255 Pre-Mount White Spoked Wheels/Mini-Pin Tires,
21238 std width
21059 21064 21271 Pre-Mount White Dish Wheels/Mini-Pin Tires,
narrow width
21272 Chrome Dish Wheels, narrow width
21273 Pre-Mount Chrome Dish Wheels/Mini-Pin Tires,
narrow width
21274 Chrome Spoked Wheels, narrow width
21275 Black Spoked Wheels, narrow width
21250 21058 _ 21061 21063 21276 Pre-Mount Chrome Spoked Wheels/Mini-Pin
Tires, narrow width
21277 Pre-Mount Black Spoked Wheels/Mini-Pin Tires,
narrow width
21278 Chrome Spoked Wheels, std width
21279 Black Spoked Wheels, std width
21280 Pre-Mount Chrome Spoked Wheels/Mini-Pin
21060 21062 21065 21068 21253 Tires, std width

21281 Pre-Mount Black Spoked Wheels/Mini-Pin Tires,
std width

$6.99
1.99
21.99
3.99
1.00
9.99

$3.99
9.99
12.99

5.99
14.99

7.9
10.99
17.99

13.99
3.99
3.99
3.99

12.99

9.99
12.99

12.99

5.99
12.99

5.99
3.99
12.99
12.99
5.99
3.99
12.99

12.99



RC10B4

9583
9561
. 9579
Factory Team RC10B4 Kit ...... #9035
BLUE TITANIUM TURNBUCKLES
1282 Titanium Turnbuckle Set $§25.00
1406  Titanium Turnbuckles, 2" (2) 9.00 9635
1409  Titanium Turnbuckles, 1" (2) 8.00
BLUE ALUMINUM 1409
1585  Center Drilled Axles (2) §14.99
1598  Shock Caps (4) 11.95
1770  B4/T4 Milled Motor Plate 14.99
1777 Shock Pivot Ball w/Eyelets (for 4 shocks) 6.99
1779 Servo Mounts (2) 15.99
1787  Baittery Strap Thumbscrews 6.99
4145 4-40 x 5/16" Socket Head Cap Screw (6) 1.50
6439  Shock Cap (1) 3.00
6937  4-40 Aluminum Locknuts (6) 3.00
6943  8-32 Aluminum Locknuts (6) 4.00
7673  4-40 x 5/16" Flat Head Socket Screw (6) 2.00
9600B Motor Plate 8.00
9608B Wheel Spacer (pr) 450 1787
9610B Servo Saver Bolt 350
9623 Inline Axle (pr) 7.50
9665 Hinge Pin Brace, v2, with hinge pins 11.99 GRAPHITE/MOLDED CARBON
9561  Chassis, carbon $40.00
1766 9565  Rear Chassis Brace/Front Hinge Pin Brace, carbon 7.00
9567 Top Plate, carbon 7.00
9569  Front Shock Tower, carbon 7.00
9573  Rear Shock Tower, carbon 9.00
9579  Front Suspension Arms, carbon 9.00
9583  Rear Suspension Arms, carbon 9.00
9586  Battery Strap, carbon 7.00
9594 9594  Battery Strap, woven graphite 14.00
9655  Full Carbon Components Set 70.00
MORE HOPUPS
— 1654 Axle Pins (4) $4.00
1766  B4/T4/GT Lightweight Outdrives 19.99
1778  B4/T4 Milled Motor Plate, black 14.99
3971  Steering Rack Bearings (4) 12.00
6417  Unobtanium Shock Shaft, 1.02" stroke (1) 6.00
9569 6418  Unobtanium Shock Shaft, .071" stroke (1) 6.00
7416  Offroad Threaded Shock Collar (pr) 550
1406 9312 Threaded Shock Body, .89" stroke, hard 20.00
anodized, w/collar & collar o-ring (pr)
9577  Steering Block, inline (left & right, pr) 5.50
9592 Caster Block, 20 (left & right, pr) 4.00
9573 9593  Caster Block, 30 (left & right, pr) 4.00
9635 Rear Anti-Roll Bar Kit, includes 3 bars 9.99
9623 9656 Complete Tuning Guide: e-Book 5.95
1654 9657  Heavy Duty Servo Saver Spring 1.50
9662 Threaded Shock Body, 1.18" stroke, hard 20.00

9 anodized, w/collar & collar o-ring (pr)



RC10T4

7441

Factory Team RC10T4 Kif ...... #7022 | 7451
1766

BLUE TITANIUM TURNBUCKLES

1283  Titanium Turnbuckle Set $29.00
1408  Titanium Turnbuckles, 2.65” (2) 10.00
1409  Titanium Turnbuckles, 1 (2) 8.00
1417  Titanium Turnbuckles, 2.80" (2) 10.00 9635
BLUE ALUMINUM
1598  Shock Caps (4) §11.95
1770 Milled Motor Plate 14.99 1409
1777 Shock Pivot Ball w/Eyelets (for 4 shocks) 6.99
1779 Servo Mounts (2) 15.99
1787  Battery Strap Thumbscrews 6.99 7412 7414
6439  Shock Cap (1) 3.00
6937 4-40 Aluminum Locknuts (6) 3.00
6943  8-32 Aluminum Locknuts (6) 400

7459 Inline Axle (pr) 7.50 -

7673 4-40 x 5/16" Flat Head Socket Screw (6) 2.00

9600B Motor Plate 8.00

9608B Wheel Spacers (pr) 450

9610B Servo Saver Bolt 3.50

9665 Hinge Pin Brace, v2, w/hinge pins 11.99 7452
‘ 1417

GRAPHITE/MOLDED CARBON

7441 Chassis, carbon $45.00
7443  Front Shock Tower, carbon 7.00
7445  Rear Shock Tower, carbon 9.00
7447  Front Suspension Arm, carbon (pr) 9.00
7449  Rear Suspension Arm, carbon, (pr) 9.00
7451  Batiery Strap, carbon 7.00
7452  Battery Strap, woven graphite 15.00
7467  Full Carbon Components Set 70.00
9577 9565 Rear Chassis Brace/Front Hinge Pin Brace, carbon 7.00
9567 Top Plate, carbon 7.00
7443 MORE HOPUPS
1654 Axle Pins (4) $4.00
1766  B4/T4/GT Lightweight Outdrives 19.99
1778  B4/T4 Milled Motor Plate, black 14.99
3971 Steering Rack Bearings (4) 12.00
6416 Unobtanium Shock Shaft, 1.32" stroke (1) 6.00
6417 Unobtanium Shock Shaft, 1.02" stroke (1) 6.00
7445 7412 Threaded Shock Body, 1.39" stroke, hard 20,00
anodized, w/collar & collar o-ring (pr)
7414 Threaded Shock Body, 1.02" stroke, hard 20.00
anodized, w/collar & collar o-ring (pr)
9577  Steering Block, inline (left & right, pr) 5.50
1787 9592 Caster Block, 20 (left & right, pr) 4.00
9593 Caster Block, 30 (left & right, pr) 4.00
9635 Rear Anti-Roll Bar Kit, includes 3 bars 9.99

o 9657 Heavy Duty Servo Saver Spring 1.50



Factory Team T(4 Kit ...... #30102

BLUE TITANIUM TURNBUCKLES

1356 TC3 Titanium Turnbuckle Set §30.00
1360 Titanium Turnbuckle Kit, blue (Rally Conversion) 34.00
1401  Titanium Turnbuckles, 1.30" (2) 8.00
1409  Titanium Turnbuckles, 1.00” (2) 8.00
1414 Titanium Turnbuckles, 1.125" (2) 9.00
31052 TC4 Titanium Turnbuckle Set 29.99
BLUE ALUMINUM
1598  Shock Caps (4) §11.95
1734 Body Clips, long & short (6 each) 499
1735 Body Clips, long (4) 2.99
1736  Body Clips, short (6) 2.99
1777 Shock Pivot Ball w/Eyelets (for 4 shocks) 6.99
1779 Servo Mounts (2) 15.99
1787  Battery Strap Thumbscrews 6.99
31046 TC4 Motor Mount 19.99
31047 TC4 Mount Clamp 2199
31049 TC4 Motor Heatsink, blue 14.99
31058 TC4 Anti-Roll Bar Ballstuds 3.99
31064 TC4 Front Arm Mount, Triangle 12.99
31065 TC4 Front Arm Mount, Circle 12.99
31066 TC4 Rear Arm Mount, square 12.99
31067 TC4 Rear Arm Mount, X-3.0 12.99
31068 TC4 Rear Arm Mount, X-2.5 12.99
31069 TC4 Rear Arm Mount, X-2.0 12.99
31092 TC4 Camber Link Mount, LF-RR 10.99
31093 TC4 Camber Link Mount, RF-LR 10.99
31095 Factory Team TC4 Top Deck Standoff (1) 3.99
31105 Factory Team TC4 Motor Bulkhead 24.99
31121 V(CS2 Shock Cap & Retainer (pr) 5.99
31123 V(S2 Shock Upgrade Kit 16.99
3888 TC3 CVD Bones (pr) 22.00
3927 TC3 Radial Clip-On Heatsink, narrow (for 3933) 11.00
3928 TC3 Radial Clip-On Heatsink, wide (for 3931)  13.00
3935 TC3 Screw Kit 13.00
3936  VCS Macro Shock Bodies (pr) 14.00
3962 Threaded Shock Body Kit (set of 4) 60.00
3963  Threaded Shock Bodies w/Collar (pr) 20.00
3965  Axle Bearing Spacers (4) 400
3968 Counterfeit Transponder 15.00
3972 Wheel Hex Drive Adapters (4) 15.00
3973  Clamping Hex Drive Adapters w/Screws (4) 21.9
3974  TC3 Battery Strap 21.00
6439  Shock Cap (1) 3.00
6937  4-40 Aluminum Locknuts 3.00
6943  8-32 Locknuts (6) 4.00
6946  4-40 x 5/16" Button Head Cap Screws (6) 2.00
6947 4-40 x 3/8" Button Head Cap Screws (6) 2.00
7673 4-40 x 5/16" Flat Head Socket Screws (6) 2.00
7873  4-40x7/16" Socket Head Cap Screws (6) 2.50

a
[
3978
1779
N
3973
31130 |
31126
1785
1736

1787

4 . e
GRAPHITE/MOLDED CARBON
1785 TC3/TC4 Battery Spacer, graphite
31002 TC4 Chassis Braces, carbon
31005 TC4 Steering Blocks/Hub Carriers, carbon
31009 TC4 Rear Suspension Arms, carbon
31101 Factory Team TC4 Rear Shock Tower, graphite
31012 TC4 Front Shock Tower, carbon
31014 TC4 Rear Shock Tower, carbon
31039 TC4 Battery Strap, carbon
31041 TC4 Chassis, carbon
31042 TC4 Carbon Component Set
31090 Factory Team TC4 Chassis, graphite
31091 Factory Team TC4 Top Deck, graphite
31097 Factory Team TC4 Chassis Spine Plate, graphite
31098 Factory Team TC4 Spine Plate Mounts, Bearing
Cap, Antenna Mount
Factory Team TC4 Shock Tower Mount, carbon
Factory Team TC4 Front Shock Tower, graphite
Factory Team TC4 Battery Strap, carbon
Factory Team TC4 Conversion Kit
Factory Team TC4 ITF Top Plate
Factory Team TC4 ITF Chassis Plate
Factory Team TC4 ITF Spine Plate
Factory Team TC4 ITF Chassis Kit
T3 Chassis, carbon
TC3 Battery Strap, carbon
TC3 Front Caster Blocks, 0 degrees, carbon
TC3 Steering Blocks/Hub Carriers, carbon
TC3 Front/Rear Chassis Braces, carbon
TC3 Front Shock Tower, carbon
TC3 Front Suspension Arms, carbon
TC3 Rear Suspension Arms, carbon
TC3 Rear Shock Tower, carbon
TC3 Full Carbon Components Set
TC3 Wheel Hex Adapters, carbon (4)

31102
31100
31126
31130
31133
31134
31135
31136
3849
3854
3869
3877
3880
3882
3885
3894
3896
3961
3949

MORE HOPUPS
1451 TC3 200mm Conversion Kit (Rally Conversion)
1651  TC3 Polished Hinge Pin Set
1654  Solid Axle Pins
1703 Solid Front/Rear Axle
1729  Heavy Duty Oneway Housing
1731 Heavy Duty Oneway Bearing (pr)
1732 Heavy Duty Oneway Ring Gear
31035 Motor Cooling Duct w/Screen
31036 Motor Cooling Fans (2)
31037 Motor Cooling Duct/Fan Kit
31048 TC4 Motor Heatsink, black
31057 TC4 Anti-Roll bar Kit
31060 TC4 Polished Hinge Pin Set
31062 Lightened Steel Diff Outdrives (pr)
3847  Complete Tuning Guide: TC3 (e-Book)
3913  Lightweight Diff Assembly
3932 Machined Motor Adjustment Cam
3933 Machined Motor Adjustment Clamp
3939  Oneway/Solid Axle/Diff Ring Gear, w/screws
3960  Front/Rear Anti-Roll Bar Kit
3964  Unobtanium Shock Shaft, .35" stroke (pr)
3970  PTFE Sealed Bearing Kit
3971  Steering Rack Bearings (4)
3978 Heavy Duty Oneway Assembly
3979 Heavy Duty Oneway Outdrive (pr)
3985 Threaded Shock Kit, hard anodized (pr)
3990 Threaded Shock Bodies, hard anodized (pr)

$8.99

9.99
11.99
10.99
15.99

8.99

8.99
14.99
39.99
69.99
77.99
32.99

12.99
5.99

3.99
13.99
25.99

239.99

32.99
77.99
12.99

119.99

39.00
10.00

8.00
12.00
10.00
10.00
11.00
11.00
11.00
75.00

5.00

$59.95

10.00
4.00
25.99
40.00
8.00
4.00
5.99
24.99
28.99
9.9
12.99
9.9
19.99
5.95
20.00
25.00
35.00
6.00
8.00
12.00

120.00

12.00
61.99
21.00
39.99
20.00



RC10GT

Factory Team GT Kit ...... #7060

BLUE TITANIUM TURNBUCKLES

1280 Titanium Turnbuckle Set, RC10GT/T2/T3 $30.00
1401  Titanium Turnbuckles, 1.30" (2) 8.00
1408  Titanium Turnbuckles, 2.65" (2) 10.00
1520 Titanium Turnbuckle/Hinge Pin Combo 46.00
BLUE ALUMINUM
1598  Shock Caps (4) §11.95
1777 Shock Pivot Ball w/Eyelets (for 4 shocks) 6.99
1779  Servo Mounts (pr) 15.99
62208 Inline Axle (pr) 7.50
6439  Shock Cap (1) 3.00
6937  4-40 Aluminum Locknuts 3.00
6943  8-32 Locknuts (6) 4.00
7561B Brake Adapter 5.00
7769  One-Piece GT Chassis (non-tub) 45.00
9156B Servo Saver Tube & Nut 6.50
MUFFLERS
1771 Torque-Tuned Side Exhaust Muffler, blue $31.99
1772  Torque-Tuned Side Exhaust Muffler, natural 31.99
1773 Torque-Tuned Side Exhaust Muffler, black 31.99
1774 RPM-Tuned Side Exhaust Muffler, blue 31.99
1775 RPM-Tuned Side Exhaust Muffler, natural 31.99
1776  RPM-Tuned Side Exhaust Muffler, black 31.99
7741  Torque-Tuned Side Exhaust Muffler, chrome 37.00
7743  Torque-Tuned Side Exhaust Muffler, purple 37.00
MANIFOLDS
7748  Pullstart Manifold, black $20.00
7749  Pullstart Manifold, chrome 20.00
7750  Pullstart Manifold, blue 20.00
7751  Pullstart Manifold, purple 20.00
7756  Non-Pullstart Manifold, black 20.00
7757  Non-Pullstart Manifold, chrome 20.00
7758  Non-Pullstart Manifold, blue 20.00
7759 Non-Pullstart Manifold, purple 20.00
HEADS
29060 AE .15 Engine, black $44.99
29061 AE .15 Engine, blue 44.99
29062 AE .15 Engine, purple 44.99
GRAPHITE
7216  Front Shock Tower, graphite $12.00
7656  Rear Shock Tower, graphite 17.00
SPRINGS
1580  Truck Front Spring Set (5pr) $11.99
1582  Truck/Buggy Rear Spring Set (5pr) 11.99

7769 |

7714

7712 7713

1772

1775

1771 1773

1774 1776

7748 7749 7750 7751

7756

7757 7758 7759

7710

1766

29061

29060 29062

‘ 1598 |

7216

7656
1620 § MORE HOPUPS

1620 Titanium Hinge Pin Set $18.00

1654 Solid Axle Pins (4) 4.00

1738  Glow Starter, blue anodized handle, 110v 29.99

1749  Nitro Fuel Bottle, 400cc 7.99

1750  Starter Box 99.99

1766  Lightweight Qutdrive Set 19.99

2403  Foam Air Filter, for large-bore carb 6.95

6416  Unobtanium Shock Shaft, 1.32" stroke (1) 6.00

6417  Unobtanium Shock Shaft, 1.02" stroke (1) 6.00

1779 7190 Complete Tuning Guide: GT, e-Book 5.95
7222 Wide Front Axles (pr) 7.50

7700 PTFE Sealed Bearing Set, 3/16" rear axle (16) ~ 95.00

7701  PTFE Sealed Bearing Set, w/clutch bearings (18) 105.00

7710  Pre-Filter Treatment 2.50

7712 Silver .190 Carb Restrictor 3.50

6417 7713 Blue .180 Carb Resfrictor 350
7714 Black .170 Carb Restrictor 350

9277  3/16" x 3/8" Bearing, flanged (2) 15.00

(6 MC-59 .12 & .15 Hi-Performance Glow Plug 395



MONSTER GT 4.60 SE

Monster GT 4.60 SE ...... #20501
BLUE TITANIUM TURNBUCKLES
25381  MGT Titanium Turnbuckle, front (1) §10.99
25382  MGT Titanium Turnbuckle, rear (1) 10.99
25383  MGT Titanium Turnbuckle Set w/Wrench 44.99
BLUE ALUMINUM
25089  MGT Muffler (.21) §28.99
25091  Standard Exhaust Manifold (.21) 17.99
25384  MGT Turnbuckle Wrench 2.99
25385  MGT Machined Chassis 109.99
25387  MGT Machined Head (.21) 49.99
25390  5mm Locknuts (10) 7.99
25391  4mm Locknuts (10) 7.99
25392 3mm Locknuts (10) 799
25395 MGT Steering Kit 7499
25400  MGT Wheel Hex Drives 16.99
25403  MGT Shock Bodies (4) 34.99
25404  MGT Shock Caps (4) 19.99
25406  MGT Side Exhaust Manifold (4.60) 2499
CLUTCH BELLS
25370 14 Tooth Vented Clutch Bell §14.99
25372 16 Tooth Vented Clutch Bell 14.99
25373 17 Tooth Vented Clutch Bell 14.99
25374 18 Tooth Vented Clutch Bell 14.99
SPRINGS
25062  MGT Blue Springs, Soft, 4.40lbs (4) $6.99
25063  MGT Gold Springs, Med., 5.10lbs (4) 6.99
25064  MGT Red Springs, Firm, 5.95lbs (4) 6.99
25065  MGT Copper Springs, X-Firm, 6.90Ibs (4) 6.99

25374 25373 25372 25370

25387

25378 25379

25385
25410
(Tuned Pipe nof induded) 25405
25404 '
25400
25395
25403

SILICONE DIFF FLUID
2390 10K Weight .750z $4.95
2391 30K Weight .750z 4.95
2392 60K Weight .750z 4.95
2393 100K Weight .750z 6.95
2394 300K Weight .750z 6.95
2395  Silicone Diff Fluid Set, 1 each of above 25.95

MORE HOPUPS
1738 Glow Igniter §29.99
1749 Nitro Fuel Bottle, 400cc 7.99
7710 Pre-Filter Treatment, Toz 2.50
25018  MGT Metal Transmission Pinion/Shaft Set 14.99
25378 49 Tooth Spur Gear 499
25379 46 Tooth Spur Gear 499
25396  MGT Optional Steering Rack Arm 54.99
25397  MGT Optional Servo Saver Hub/Springs 5.99
25398  MGT Optional Steering Hardware 6.99
25405 MGT Side Mount Exhaust Manifold 18.99
25407 MGT Side Exhaust Wire Mount 1.99
25410  MGT “Robo” Brake Disc 15.99
25415  MGT Forward-Only Kit 15.99
25429  Dual Chamber Side Muffler 29.99
25430  Dual Chamber Muffler Wire Mount 1.99

(7) 25433 MGT Side Exhaust Manifold (4.60) 18.99



Nitro TC3

(photo includes parts not it kit)

Factory Team Nitro TC3 Kit ...... #2033

1775

1772

BLUE TITANIUM TURNBUCKLES
1402 Titanium Turnbuckles, 1.375" {2)
1414 Titanium Turnbuckles, 1.125" (2)
1415  Titanium Turnbuckles, rear toe, v1 (2)
1418 Titanium Turnbuckles, .825", v1 (2)
1716  Turnbuckle Kit, V2

BLUE ALUMINUM
1598  Shock Caps (4)
1706  Center Bulkhead
1708  Pullstart Motor Mounts
1710 Non-Pullstart Motor Mounts
1712 Main Driveshaft
1717  Blade Anti-Roll Bar Mounts
1777 Shock Pivot Ball w/Eyelets (for 4 shocks)
1779 Servo Mounts (2)
2224 NTC3 Chassis
31034 TC4 Heavy Duty CVD Bones (2)
3888 CVD Bones (2)
3962 Threaded Body Shock Kit (set of 4)
3963 Threaded Shock Bodies w/Collars & O-ring (pr)
3965  Axle Bearing Spacers (4)
3968 Counterfeit Transponder
3972  Wheel Hex Drive Adapters (4)
3973  Clamping Hex Drive Adapters w/Screws (4)
6439 Shock Cap (1)
6943  8-32 Locknuts (6)
6946  4-40 x 5/16" Button Head Cap Screws (6)
7673  4-40 x 5/16" Flat Head Socket Screws (6)
7873  4-40x7/16" Socket Head Cap Screws (6)

GRAPHITE/MOLDED CARBON
1722 Woven Graphite Radio Tray
2236  Carbon Front Arm Set
2241 Carbon Right/Left Steering/Hub Carriers
2248  Carbon Front/Rear Shock Towers
2255  Carbon Chassis Braces
2259  Carbon Radio Tray
2261 Carbon Handle
2327  Carbon Rear Shock Tower, V2
2336  Carbon Rear Hub Carrier, V2
2339  Carbon Rear Suspension Arm, V2
2342 Complete Carbon Parts Set, V2
3949  Carbon Wheel Hex Adapters (4)

MORE HOPUPS
1652  Polished Hinge Pins
1654  Solid Axle Pins
1700 Lightweight Two-Speed Oneway Hub
1702  Lightweight Two-Speed Clutch Bell
1704 Solid Front/Rear Axle
1709  Brake Cam Bearing Kit
1711 PTFE-Sealed Bearing Set
1714 Swing Rack Bearing Kit

$8.00
9.00
9.00
6.00
2250

§11.95
22.00
20.00
20.00

9.00
24,00
6.99
15.99
4500
21.99
22.00
60.00
20.00
4.00
15.00
15.00
21.99
3.00
4.00
2.00
2.00
250

$39.00
11.00
7.00
7.00
8.00
8.00
450
7.00
7.00
11.00
67.99
5.00

$10.00
4.00
22.00
8.00
30.00
7.00
95.00
12.00

1756

1759

1767

1774

1771

1755

1760

1768

1776

1773

1757

1761

1769

1754 2224

1752

2285 |

.

l 1717 |

(8]

1706 \

MORE HOPUPS cont.
1715  Front Blade Anti-Roll Bar Kit $40.00
1726  Titanium Pivot Balls (2) 15.99
1728  Heavy Duty Front Oneway Assembly 61.99
1729  Heavy Duty Oneway Housing w/Bearings 40.00
1730  Heavy Duty Oneway Outdrive Cups (pr) 21.00
1731  HD Oneway Special Bearings, fits 1728 ONLY (pr) 8.00
1732  Heavy Duty Oneway Ring Gear 4.00
1738  Glow Starter, blue anodized handle, 110v 29.99
1749  Nitro Fuel Bottle, 400cc 7.99
1750  NTC3/RCI0GT Starter Box 99.99
1752  Hard Anodized Chassic, black 49.99
1754 Hard Anodized Chassis, natural 49.99
2285 NTC3 Two-Speed Assembly 55.00
2324 Non-Pullstart 3 Shoe Flywheel 9.00
2325 Pullstart 3 Shoe Flywheel 9.00
2403  Foam Air Filter for Large-Bore Carb 6.95
31121 V(S2 Shock Cap & Retainer (pr) 5.99
31123 V(S2 Shock Upgrade Kit (for 4 shocks) 16.99
3939  Front Oneway/Solid Axle Ring Gear w/Screws 6.00
3960 Rear Anti-Roll Bar Kit 8.00
3964  Unobtanium Shock Shaft, .35” stroke (pr) 12.00
3985 Threaded Shock Set, hard-anodized (pr) 39.99
3990 Threaded Shock Kit, PTFE 20.00
7710  Pre-Filter Treatment 2.50
HEADS
29060 AE .15 Engine, black $44.99
29061 AE .15 Engine, blue 44.99
29062 AE .15 Engine, purple 44.99
MUFFLERS & MANIFOLDS
NTC3 Rear Exhaust Muffler, $54.99 each
1755: Blue ~ 1756: Natural ~ 1757: Black
NTC3 Rear Exhaust Manifold, $14.99 each
1759: Blue  1760: Natural ~ 1761: Black
NTC3 Rear Exhaust Dual Chamber Muffler, $59.99 each
1763: Blue  1764: Natural ~ 1765: Black
NTC3 Side Exhaust Manifold, $17.99 each
1767: Blue ~ 1768: Natural ~ 1769: Black
NTC3 Torque-Tuned Side Exhaust Muffler, $31.99 each
1771: Blue  1772: Natural ~ 1773: Black
NTC3 RPM-Tuned Side Exhaust Muffler, $31.99 each
1774: Blue  1775: Natural ~ 1776: Black
2354 NTC3 Rear Exhaust Dual Chamber Muffler $49.99
7741 Muffler, polished (chrome look) 37.00
7743 Muffler, purple anodized 37.00

PARTS EXCLUSIVELY FOR PRE-2004
NTC3 RELEASES

1713 Factory Blue NTC3 Turnbuckle Kit, v1 $22.50
2244 Carbon Rear Arm Set 11.00
2319 NTC3 Suspension Upgrade, vl tov2 parts  35.00
2371 Complete Carbon Kit, v1 67.95
TOOLS
1450  Ride Height Gauge, blue alum. $14.99
1719 Camber/Track Width Tool, molded 3.50
1721 Clutch Nut Wrench, 3/8" 2.00

29061 29060 29062




RC10L40

Factory Team RC10L4 Oval ...... #8019

BLUE TITANIUM TURNBUCKLES

1231 Titanivm Turnbuckle Kit, L30/L3T/L20/LSO
1405 Titanium Turnbuckles, 1.875" (2)

BLUE ALUMINUM

1598  Shock Caps (4)

3963 TC3 Threaded Shock Bodies (2)
4442B Chassis Standoffs

4447 Ballstuds (8)

4448  Ballstuds & Cups (2)

4471B V(S Shock Body w/Shock Rod End
4537B Right Side Motor Mount Bulkhead
4562 Angled Servo Mounts (2)

6193B Wing Buttons (pr)

6439  Shock Cap (1)

6943  8-32 Aluminum Locknuts (6)
8213B Thrust Cone & Axle Spacer

8321B SS Rear Axle Spacers (2)

8450B V(S Macro Shock Body

8443B Inline Front Axles

$9.00
9.00

7.50

8459B Right Side Wheel Hub, 10L/LS/L2/L30, offset pod 18.50

8465B Left Clamping Hub

8467B Right Side Wheel Hub, 10L/LS/L2/L30, std pod

8470 Screw Set

19.00
17.00
11.00

82138

BOFS= () | D

BLUE ALUMINUM cont.
8500 Right Side D-Drive Diff Hub, std pod $26.50
8501  Graphite D-Drive Pro Axle, L40 std 26.95
8502 Right Side D-Drive Diff Hub, offset pod (kit) 26.50
8503 Right Side D-Drive Diff Hub, double-clamp 25.95
8505  Adjustable Caster Block, IRS 54.95
MORE HOPUPS
4538  Magnesium Right Side Motor Mount Bulkhead ~ $33.00
4541  Left Bulkhead, carbon 5.00
6418  Unobtanium Shock Shaft, .71" stroke (1) 6.00
6619 1/8" Carhide Diff Balls (8) 8.00
8191 Fiberglass T-Bar, .075" 6.50
8193  Fiberglass T-Bar, .063" 6.50
8450  VCS Macro Shock Body 6.75
8461 Lower Pod Plate, graphite 12.00
8462 Rear Chassis Brace, graphite 8.50
8463 Rear Upper Pod Plate, graphite 12.00
8478  Rear Chassis Brace, graphite, 10L3T 8.50
8488  Front Bumper, graphite (curved front) 17.99
8501  Graphite D-Drive Pro Axle 26.95
8508  VCS Micro Shock Nut, polished 450

FACTORY TEAM 10L40 UPGRADE KITS

8485 10L3 Oval Factory Team Chassis Kit, 4-Cell $99.99
8486  10L3 Oval Factory Team Chassis Kit, 6-Cell 99.99
10L40 GRAPHITE
8487 Chassis $59.99
8488  Front Bumper 17.99
8489  Chassis Brace 9.99
8490 Tray Bracket 9.99
8491  4-Cell Tray (only in #8485 kit) 18.99
8492  6-Cell Tray (only in #8486 kit) 21.99

Factory Team RC12L4 ...... #4017

BLUE TITANIUM TURNBUCKLES

1250  Titanium Turnbuckle Kit, 12L3/LC/LS
1404  Titanium Turnbuckles, 1.775" (2)

BLUE ALUMINUM
4442B Chassis Standoffs
4447  Ballstuds (8)
4448  Ballstuds & Cups (2)
4471B V(S Shock Body w/Shock Rod End
4537B Right Side Motor Mount Bulkhead
4562 Angled Servo Mounts (2)

6619

HZ PO~ (O [j

BLUE ALUMINUM cont.
4566  Right Side D-Drive Diff Hub $15.99
61938 Wing Buttons (pr) 450
6934  4-40 x 3/8" Flat Head Socket Screw (6) 2.00
6943 8-32 Aluminum Locknuts (6) 4.00
7673  4-40 x 5/16" Flat Head Socket Screw (6) 2.00
8213B Thrust Cone & Axle Spacer 5.00
8409 4-40 x 1/2" Flat Head Socket Screw (4) 1.50
8439 8-32x5/8" Flat Head Screw (4) 1.50

MORE HOPUPS
1599  Stub Axle, fitanium (2) $5.00
4520 Fiberglass T-Bar, .075" 5.00
4522 Fiberglass T-Bar, .063" 450
4538  Magnesium Right Side Motor Mount Bulkhead ~ 33.00
4541  Left Bulkhead, carbon 5.00
4542  Damper Post/Antenna Mount/Roll-Stop Inserts/ ~ 5.00

T-Bar Spacers, carbon

4565 Rear Axle, 12L4, d-ring (big diff rings) 26.95

6619 1/8" Carbide Diff Balls (8) 8.00
12L4 GRAPHITE

4534  Rear Chassis Brace §7.50

4558 Chassis 45.00



MONSTER TRUCK SPRINGS
25062 Blue Springs, soft, 4.40 Ibs (4) $6.99
25063 Gold Springs, medium, 5.10 Ibs (4) 6.99
25064 Red Springs, firm, 5.95 Ibs (4) 6.99
25065 Copper Springs, x-firm, 6.90 Ibs (4) 6.99
10L/12L SERIES SPRINGS
Factory Team Spring Sets 1583 Oval/Onroad Spring Set (10 pr) §18.99
4113 Front .020 Springs (pr) 2.00
4114 Front .018 Springs (pr 2.00
SPRING SETS . 4116 Front .024 Sgrings %Br; 2.00
1580  Truck Front Spring Set {5 pr) §11.99 A117  Front .022 Springs (pr) 2,00
1581 Buggy Front Spring Set (4 pr) 8.99 4118 Front .014 Springs (pr) 2.00
1582 Truck/Buggy Rear Spring Set (5 pr) 11.99 4119 Front .016 Springs (pr) 2.00
1583  Onroad/Oval Spring Set (10 pr) 18.99 4475 VICS Micro Shock Spring, 4.00Ibs, black 2.00
3988  TC/Nitro TC Spring Set (9 pr) 34.99 4476 VCS Micro Shock Spring, 6.00lbs, green 2.00
8449 VCS Micro Shock Spring, 16.0 Ibs, copper 2.00
8451 VCS Micro Shock Spring, 8.0lbs, silver 2.00
T?g:.]’ R!ENG SCAR 132’;,|:’NGS §5.00 1596 8452 VCS Micro Shock Spring, 10.0 Ibs, blue 2.00
reen Springs, 12.0 Ibs (pr) - 8453 VCS Micro Shock Spring, 12.0 Ibs, gold 200
3942 Silver Springs, 14.5 Ibs (pr) 3.00 8454 VICS Micro Shock Spring, 14.0 Ibs, red 2.00
3943  Blue Springs, 17.0 Ibs (pr) 500
3944 Gold Springs, 19.5 Ibs (pr) 3.00
3945  Red Springs, 22.0 Ibs (pr) 500
3946  Copper Springs, 25.0 Ibs (pr) 3.00
3952 Purple Springs, 30.0 Ibs (pr) 5.00
3953  Yellow Springs, 35.0 Ibs (pr) 5.00
3954  White Springs, 40.0 Ibs (pr) 500
2395
6478  Silver Springs, rear, 2.10 Ibs (pr) §2.50 5490 Silicone Shock 0il. 10wt 202 $350
YR R AW il 5421 Silicone Shock Oi, 20w, 20z 350
6481 _ Black Springs, rear, 1.74 lis {pr) L 5422 Silicone Shock Oil, 30w, 20z 350
6482 Gray Springs, rear, 2.33 Ibs pr) 250 5423 Silicone Shock Oil, 40w, 2oz 350
6493 Brown Springs, fI‘OIlT, 2.80 Ibs (pr) 250 5425  Silicone Shock Oill SUWT, %0z 3.50
6494  Green Springs, front, 3.50 Ibs (pr) 2.50 5427 Silicone Shock Oil, 15wt, 20z 350
6496 Silver Springs, front, 3.85 Ibs (pr) 250 5428  Silicone Shock Oil, 25w, 20z 350
6497  Blue Springs, front, 4.20 Ibs (pr) 250 5429 Silicone Shock Oil, 35wt, 20z 3.50
7434 Blue Springs, rear, 2.55 Ibs (pr) 250 5435 Silicone Shock Oil, 50wt, 20z 350
7435 Gold Springs, rear, 2.75 Ibs (pr) 250 5436 Silicone Shock Oil, 60wt, 20z 350
7436  Red Springs, rear, 2.95 Ibs (pr) 250 5437 Silicone Shock Qil, 70wt, 20z 3.50
8232 Black Springs, front, 3.20 Ibs (pr) 250
LUBES & GREASES
1105  Green Slime Lube, 4cc $2.50
TRUCK SPR’NGS 1596 Thread Locking Adhesive, 10ml 3.95
6478 Silver Springs, rear, 2.10 Ibs (pr) 5250 2390 Silicone Diff Fluid, 10k wt. 4.95
6480 Green Springs, rear, 1.90 lbs (pr) 250 7710 2391 Silicone Diff Fluid, 30k wt. 495
6481  Black Springs, rear, 1.74 lbs (pr) 2.0 2392 Silicone Diff Fluid, 60k wt. 495
6482 Gray Springs, rear, 2.3 Ibs (pr) 250 2393  Silicone Diff Fluid, 100k wt. 6.95
7425 Gold Springs, front, 3.70 Ibs (pr) 250 2394 Silicone Diff Fluid, 300k wt. 695
7426 Black Springs, front, 2.765 Ibs (pr) 250 2395 Silicone Diff Fluid Set, 1 each of the above. 25.95
7427  Green Springs, front, 2.9 Ibs (pr) 2.50 25063 6588  Black Grease, 4cc 2.50
7428  Silver Springs, front, 3.225 Ibs (pr) 2.50 6591  Diff Lube, 4cc 250
7429  Blue Springs, front, 3.45 Ibs (pr) 2.50 7710  Prefilter Treatment 250
7430  Red Springs, front, 3.90 Ibs (pr) 2.50
7434 Blue Springs, rear, 2.55 Ibs (pr) 2.50 25064 BEARINGS
7435 Gold Sprmgsl rear, 2.75 lbs (pr) 250 1709  NTC3 Brake Cam Beuring Kit i $7UU
7436 Red Springs, rear, 2.95 Ibs {pr) 250 1711 NTC3 PTFE-Sealed Bearing Kit 95.00
1714  NTC3 Swing Rack Bearing Kit 12.00
25062 1731  NTC3/TC3/TC4 HD Oneway Bearings 8.00
3970 TC3/TC4 PTFE-Sealed Bearing Kit 120.00
3971  B4/T4/TC3 Steering Rack Bearings 12.00
1105 7700 GT PTFE-Sealed Bearing Kit 95.00

7701  GT PTFE-Sealed Bearing Kit, includes cluich ~ 105.00

@ bearings



Tools/Titanium

1449
1541 1561
TOOLS
1110 Turnbuckle Wrench $§1.50
1111 FT Turnbuckle Wrench, fits 1/8” turnbuckles 5.99 T]’ Z(;?NI!C'{ (’)g ’B."N/GTBET PiN SETS $15.00
1449 Offroad Ride Height Gauge 24.99 1620 ROI0GT /R”c%%YT /RUB"T‘Z 1800
1450  Onroad Ride Height Gauge 14.99 -
1541  Hex Driver Set (1 each: .050", 1/16", 1.5mm,  59.99
5/64",3/32", 2.5mm, 3mm
15t2 vt oD 050 1050 BLUE TITANIUM TURNBUCKLE KITS
1543  Black Hex Driver, 1/16" 10.50 1205 RC10 Worlds Car $§27.00
1544 Purple Hex Driver, 1.5mm 10.50 1207 RC10B3 Buggy 27.00
}g:g glulz :ex gr'_ven 53//3‘; }ggg 1231 RCI0L3, RC10L20, RCTOLSO 9.00
old Hex Driver, !
e s - i RO i
ed Hex Driver, 3mm L b 0 :
1551 Slotted Screwdriver/Phillips Screwdriver Combo  19.99 1282 RC10B4 25.00
1552 Slotted Screwdriver 10.50 1283 RC10T4 29.00
1553  Phillips Screwdriver 10.50 1356 RC10TC3 30.00
1554 Spring Hook Tool 10.00 1360  RCIOTC3 Rally 34.00
1561  Nut Driver Set (1 each: 3/16", 1/4”,11/32", 69.99 1366 Traxxas Rustler 44.00
5.5mm, 7mm, 8mm)
1562  Black Nut Driver, 3/16" 12.99
1563  Red Nut Driver, 1/4" 12.99
1564  Purple Nut Driver, 5.5mm 12.99
1565  Green Nut Driver, 11/32" 12.99
1566  Silver Nut Driver, 7mm 12.99
1567  Gold Nut Driver, 8mm 12.99 1450
1592  Ball Hex Wrench Set (1 each: 5/64", 3/32", 33.99
2.5mm)
1594  Body Reamer 22.00
1719 Camber/Track Width Tool 3.50
1721  Clutch Nut Wrench, 3/8" 2.00
1737  Body Scissors 5.99
1738  Glow Starter, blue anodized handle, 110v 29.99
25260 Monster GT Nut Wrench 3.9 1738
25261 Monster GT Hex Driver Starter Shaft 599 1401
25384 Monster GT Turnbuckle Wrench 2.99
3987 Droop Gauge 2.00
1401  Titanium Turnbuckles, 1.30"/33mm (pr) $8.00
TOOL RERLACEMEN T. T’P§ 1402  Titanium Turnbuckles, 1.375"/35mm (pr) 8.00
o s et Repcetett T o0, SE 1403 Titanium Turnbuckles, 1.65"/42mm () 9.00
1574 Hex Driver Reglucemem Tiz: 1.5mm 550 1404  Titanium Turnbuckles, 1.775" /45mm (pr) 9.00
1575  Hex Driver Replacement Tip, 5/64" 5.50 1405 Titanium Turnbuckles, 1.875"/48mm (pr) 9.00
1576  Hex Driver Replacement Tip, 3/32" 550 1406  Titanium Turnbuckles, 2.00"/51mm (pr) 9.00
1577 Hex Driver Replacement Tip, 2.5mm 550 1407  Titanium Turnbuckles, 2.30"/58.5mm (pr) 10.00
1578 Hex Driver Replacement Tip, 3mm 550 1594 1408  Titanium Turnbuckles, 2.65”/67mm (pr) 10.00
1586 Ball Hex Driver Replacement Tip, 5/64" 6.99 1409 Titanium Turnbuckles, 1.00/25.5mm (pr) 8.00
1587 Ball Hex Driver Replacement Tip, 3/32 6.99 1411 Titanium Turnbuckles, .75"/19mm (pr) 8.00
}ggg gth H;X Drlve{'ReplucemenI R ggg 1412 Titanium Turnbuckles, 3.50"/89mm (1) 8.00
ody Reamer Ti ! hek :
6985 SIoI¥ed Screwdriser Replacement Tip 750 1414 Titanium Turnbuckles, 1.125"/28mm (pr) 9.00
6986  Phillips Screwdriver Replacment Tip 7.50 1415 NTC3 Rear Toe Turnbuckles, v1 (pr) 9.00
6989  Spring Hook Replacement Tip 7.00 1417  Titanium Turnbuckles, 2.80"/71mm (pr) 10.00



Screws/Apparel/Add. FT Parts

BLUE ALUMINUM SCREW SETS

1130  Traxxas Nitro Rustler $11.50
3935  TC3 Screw Kit 13.00
4178 RC12L3/L3 Oval Screw Kit 10.00
4179 RC12LS/LC Screw Kit 7.00
6910  RC10 Screw Kit (all alum. chassis models) 12.00
7299  RC10T3 Truck Screw Kit 8.50
7300 RCT0T Truck Screw Kit 1150
7303  RC10T2 Truck Screw Kit 13.00 1734
7675 RC10GT Gas Truck Screw Kit 17.00 —
8115 RCI0LS/LSO Screw Kit 8.50
8470 RC10L3 Oval Screw Kit 11.00
9290 RC10B2/B3 Buggy Screw Kit 7.00 SP50
UNOBTANIUM SHOCK SHAFTS
3964  Unobtanium Shock Shafts, .35” (pr) §11.00
6416  Unobtanium Shock Shaft, 1.32" (1) 6.00
6417  Unobtanium Shock Shaft, 1.02" (1) 6.00
6418  Unobtanium Shock Shaft, .71" (1) 6.00
6419  Unobtanium Shock Shaft, .56 (1) 6.00
8845  Unobtanium Shock Shaft, .35" (1) 6.00
SP409
ADDITIONAL FT PARTS
1595  Chassis Lead Weights, 1/4 oz (12) $3.00 1595
1598  Factory Blue Aluminum Shock Caps (4) 11.95
1734  Body Clips, metallic blue (4 long/6 short) 499
1735  Body Clips, metallic blue, long (4) 2.99
1736 Body Clips, metallic blue, short (6) 2.99
4447  Factory Blue Aluminum Ball Ends (8) 8.00
6312  Chassis Protective Sheet 8.50
6937  Factory Blue 4-40 Locknuts (6) 3.00
6943 Factory Blue 8-32 Locknuts (6) 4.00
STARTER BOX 3935
1750  Factory Team Starter Box $99.99 1750
APPAREL
Shirt size designations: Add M, L, XL, XXL after the part #. ORDERING INFO
SP409 AE Team Cap, dark blue $19.95 Please check you local hobby shop for the parts first.
SP50  AE Flame Shirt, black 15.99
SP52  AE Flame Shirt, blue 15.99 Credit Card orders welcome. Include you credit card number, expiration date and
SP54  AE 06 Design Shirt, royal blue, short sleeve 19.99 name as it appears on the card. (VISA, MC, AMEX, Discover)
SP55  AE 06 Design Shirt, dark gray, short sleeve 19.99
SP56  AE 06 Design Shirt, royal blue, long sleeve 25.99 Ordering by mail or fax:
SP57  AE 06 Design Shirt, dark gray, long sleeve 2599 1. Write out your order on a separate sheet of paper (or visit
www.rc10.com/rc/order for a printable/faxable form). Include part number,
CAR CARRIER ot el s ey e o
SP100 AE Car Carrier Boxes, fits inside SP415 bag. Three 24x12x6”  $15.00 g i ’
inner boxes fit info one double thickness box with locking 9. California residents ONLY add 7.75% sales tax
;nd flap. B(I]1g not in;lluded.)(Due to ifs large size, add ’ ' ’
15.00 to shipping charges. 3. Add shipping fee of $7.50 to all orders. Faster Red, Orange or Blue Label UPS
SP101 Inner Boxes. Three 24x12x6" inner boxes for SP415. 5.25 U Chinn: : " " i
SP102 Outer & Inner Boxes. Inside d(iimension of outerI b(;)x& 7.00 Shipping and infernafional order require exfa charges
9 3/4x13 11416 94", Fits inside SP416, not indluded. T outer 4. Infernational orders placed by credit card must be PRE-APPROVED!
f‘hzj;;‘il';;rtggﬁgzs()uue to ts large size, add $15.00 fo International orders not placed by credit card must be prepaid by
SP103 Inner Bo;f(es Only. REplucemenI cardboard inner boxes for 3.50 Demcierdetbli i s
SP416 for carrier bag. . .
SP415 AE Car Carrier Bag. Heavy duty reinforced nylon bag 39.95 > Szr;goml;e%r(é?;(tt(:i.(s Inc. g:r(p}l}t:‘r)lesg[]fggzgur order:
(boxes not included). 1:8th scale size. 3585 Cadillac Ave. F: (714) 850-1744
SP416 AE Car Carrier Bag. Heavy duty reinforced nylon bag 29.95 Costa Mesa, CA 92626 USA

(boxes not included). 1:10th scale size. @



